EXPLORING ACTIVITY FOR VECTORS

I. Purpose: To develop skills at drawing vectors, recognizing quadrants variations on positive or negative cosine/sine functions, and using the tail-tip drawing method to solve for resultant vectors.
II. Materials: ruler and protractor 

III. Procedure:
A. *Use a ruler to measure the magnitude and protractor to determine the angle direction.     

     *Draw the vector on the given circle grid. 
     * Label the vectors drawn as v1, v2, v3, or v4. 
Vector 1 (V1) = 10 cm @ 30˚



Vector 3 (V3) = 3 cm @ 257˚
Vector 2 (V2) = 5 cm @ 100˚



Vector 4 (V4) = 6 cm @ 305˚





i. Which vectors would have a negative cosine?  Explain.


ii. Which vectors would have a negative sine?  Explain.


iii. 270˚ is sometimes written as -90˚, knowing this how else could v3 and v4’s angle be written?  

B. *Use a ruler to measure the magnitude and protractor to determine the angle direction. 

     *In the left column, draw the individual vectors.

     *In the right column, draw the vectors connected using the Tail-Tip Method by 

       placing the tail of vector 2 on the head of vector 1. 

     *Use a ruler to measure the resultant vector and write the magnitude and direction of 

        the resultant vector to the right of the diagram.  

	Example:

V1 = 2 cm @ 90˚

V2 = 1 cm @ 270˚

	Vr = 1 cm @ 90˚                 

	V1 = 3 cm @ 0˚

V2 = 1 cm @ 0˚


	

	V1 = 1 cm @ 0˚

V2 = 3 cm @ 180˚


	

	V1 = 1 cm @ 90˚

V2 = 1 cm @ 270˚


	

	V1 = 3 cm @ 0˚

V2 = 3 cm @ 90˚


	


90˚





180˚





0˚





270˚





Answer: V2 & V3 as they are to the left of the y-axis or in quadrants 2 & 3 causing them to have a negative x value.





Answer: V3 & V4 as they are below the x-axis or in quadrants 3 & 4 causing them to have a negative y value.





Answer: V3 would be -77˚ and V4 would be -125˚
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